




























JIYA LAL MITTAL DAV PUBLIC SCHOOL
GRADE – III  	SA-I (SEPT, 2015)
SUBJECT – MATHEMATICS		
TIME: 3hrs.				M.M-90

General Instructions:
1. Handwriting should be clean and neat.
1. All questions are compulsory.
1. Attempt the paper in serial order.

Section-A
A. MCQ:							(10X1=10)
1) Smallest 2-digit number is:
(a) 99		(b) 10		(c) 22		(d) 11

2) The numeral for nine thousand ninety is:
(a) 9900	(b) 9009	(c) 9090	(d) 0990

3) 1 year = _______ months
(a) 6		(b) 7		(c) 12		(d) 9

4) 1 hour = ________ minutes.
(a) 24		(b) 60		(c) 7		(d) 12

5) Teacher’s day falls on:
(a) Nov 14	(b) Oct 2	(c) Aug 15	(d) Sept 5

6) 1 rupee = ______ paise
(a) 60		(b) 24		(c) 100	(d) 50

7) 1 metre = ___________ centimeters.
(a) 100	(b) 60		(c) 24		(d) 50

8) Standard unit of length is __________
(a) Rupee	(b) Hour	(c) metre	(d) minute

9) Centimeter is written as _________
(a) Km	(b) m		(c) cm		(d) Rs

10) Distance between earth and moon is measured by ___
(a) m		(b) cm		(c)km		(d) Rs.

Section-B

B. Very short questions:				(10X2=20)
11) Convert 52 rupees into paise.

12) Write in words:-
(a) Rs.31.55			(b) Rs.3.15

13) How many minutes will the minute hand take to move from 12 to 4.

14) Write the time in numbers:-
(a) 20 minutes past 6
(b) Half past 4

15) Subtract:	5596	
4432
											
16) Subtract:	8000 – 3642

17) Add:		7284
      +  1926														
18) Add:		4857
2055
      + 1846
			

19) Write the number names of:
(a) 4356		(b) 9998

20) Expand 1463 in two ways.


Section-C

C. Short answer questions:			(10X3=30)
21) Complete the pattern:

1111, 2222, _____ , _____, ______, _____, _____, _____

 (
2
)
22) Draw abacus of 58       4. Show that value of the encircled digit. Also write the value.

23) Arrange and add:
4412;  1272; 1476

24) Add: 		6507
1936
+ 281



25) Subtract:	5128 – 1814

26) Subtract:	7361 – 3915 and also check your answer.

27) Convert 9 hours into minutes.

28) Add the following:
Rs. 143.83 ;  Rs. 134.28 and Rs.348.23

29) Subtract:	Rs.96.85 – Rs.36.90


30) Add: 		32km   141m
        +75km   392m




Section-D

D. Long questions:					(6X5=30)
31) A role of electric wire contains 88m 75cm of wire. If 46m 55cm of wire is used. How much wire is left in the roll.

32) Neha bought rice for Rs.35.50, flour for Rs.52.50 and sugar for Rs.18.25. how much money did she spend in all?

33) Convert 2 hours 15 minutes into minutes.

34) Ram had 2359 stamps. Out of these 1985 are Indian stamps , rest are foreign stamps. How many foreign stamps did he have?

35) There are 2958 men, 2596 women and 3102 children in a town. What is total population of the town?

36)   
(a) Write in figures:
(1) Six thousand six hundred sixty six
(2) Three thousand six

(b) Write the successor of 	
597 ___________		7008  __________
